1/4" X

1/2" LONG
CARRIAGE BOLT & NUT

—{1.25" |—

—

3"

L

2.75" —|

DETAIL A

3" 20GA WIDE STRUT

OPTIONAL SSH GLASS LIGHTS
-\s NG (2) STRUTS

3 WIDE STRUTS

ALTERNATE CONSTRUGTION

3" 20 GAGE
(SEE DETAIL A)

B

] 1
I/ //| |/’ //I 777

L

L

OPTIONAL LOCK — |

PTIONAL:
4 X 16 AR VENT
2) REGD

60 SQ. IN. MIN.

OTAL OPEN AREA.

OPTIONAL S5B GLASS LIGHTS—\/L\J‘%TERNATE CONSTRUCTION
L

4 WIDE STRUTS
3" 20 GAGE

s

9* (SINGLE CAR)

ING (2) STRUTSK c
/,

W

(SEE DETAIL A)

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC ORERATOR
OR A LOCK (MUST ENGAGE BOTH
TRAGKS ON DOORS WITH EXTENSION

N\

DRILLING SCREWS.

3/4" X 1-1/2" X 13GAGE MIN, " P
CALV. STEEL HORIZONTAL ANGLE. ﬁoéf%\ﬁTfLT ETEREACK USE'E;((T};¢4" :\/‘
16 GAGE OR 13 GAGE HEX HEAD SELF
/ BASED ON THE WEIGHT DRILLING SCREW 16GA. GALV. STEEL 1
DF THE DOQR. TOF BRACKET WITH
@ N USE (2) 1/4" X 3/4" 14GA, ROLLER HOLDER
SHEET METAL SCREWS. o F SEE DETAL D.
\
13 GAGE MIN. GALV. STEEL N
TRACK SPLICE GR FLAG BRACKET. (I P~
FASTEN TO WOOD JAMB WITH Sy p
5/16% X 1-1/2"LAG SCREWS, NS s
2" 16 GAGE GALV. STEEL & /——}:‘Z@
VERTICAL TRACK BOLTED TO N4 STRUT MQUNTED JUST BELOW TOP BRACKET. =
WINDLOAD TRACK BRACKETS WITH DETAIL D
1/4™-20 X 5/8" TRACK BOLTS i
i
] | - INTERIOR GALV. & PREPAINTED STEEL N
74" (9 X B) / 27 GACE.
/— SEE DETAL “E o M i
‘ 2” ROLLER WITH 7/16 DIA. SHORT STEM. ;
i DETAIL E {‘ TIRE: STEEL 7 BALL 74% 5
= |
o s s 0y Y "
E g (3 BRACKETS EACH SIDE)
DOOR HEIGHT) 50" (9 X & 14 GAGE GALV. STEEL k
(9 X 8) END HINGES ATTACHED
J (4 BRACKETS EACH SIDE) WITH (5) SCREWS.
- r % SEE DETAL C. 2%
' ,b
E1 3 :
g?;- Eg >>§ Q [ STRUT MOUNTED ABOVE HINGE
DECORATIVE SHORT EMBOSS, A 1S
i DECORATWE LONG EMBOSS 9) ]
- . OR FLUSH ON EXTERIOR SIDE.
5 \ 1/4"X 3/4" LONG HEX HEAD SELF h

STOP MOLDING NAILED EVERY 87

27—

SPRINGS).

CENTER HINGES
(1) COLUMN

OPTIONAL LOCK—/ E

QPT
42X 16 AIR VENT
LBO 3Q. lN MIN.

o \\OO>

e

—

7774

) L .
QTAL OPEN AREA. .
9" (SINGLE CAR)

\ a%
D TVPE NAIL MN. ——— R GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4" )
. . LONG HEX HEAD SELF
LG LL DRILLING SCREWS.
(6 PER STRUT FOR &' WIDE DOOR)
2" 0 — 0
- STRUT MOUNTED BELOW #1 HINGE
18 CAGE GALV. STEEL CENTER HINGE b B :
ATTACHED WITH 4 FASTENERS. ; T~ [
13 GAGE GALV. STEEL WINDLOAD TRACK B\;!}G%K%F/Sm See Aa%e ~ w;
SPACING. FASTEN T G AMBS 4 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAL 'E”. 7 _/—(EA?NII_!L%YE%ENF% Imﬁgﬁ?ggr\}\w )
SECTION B—R " LG SECTION EXTERIOR STEEL SKIN) %
EXTERIDR MATER,AL 27 GAGE E 13 GAGE GALV. STEEL BOTTOM BRAGKET o /u
GALYV. AND PREPAINTED STEEL ATTACHED WITH 3 FASTENERS SECTION
l 4 SEE DETAIL F
NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TQ BE
1/4°=20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. SECTION A—A SECTION C—C

LH. | 16 GAGE ENDCAP

USE ONE EXTRA SELF DRILLING SCREW
THROUGH TOP LEAF OF HINGE,
END CAP AND HINGE PLATE.

FL

15078

CENTER HINGES
(1) COLUMN

DETAIL "F"

DETAIL C

NOTE: GLAZING DOES NGT SATISFY IMPACT

X 7

9 !

X 8

DEBRIS REQUIREMENTS IN FBC

DOORS SHOWN CN THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABGVE VIA TESTING TQ ANSI/DASMA 108-03.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
g'—-0"7'-0"|+31.2|—35.8 |+46.8|—53.7
o8 —0 557 FARGATE bR
9'-0"|8'=0"[+31.2]|-35.8 [+46.8[-53.7 3121 FARGATE DR

TX-PE 56308—F—2203
FL—PE-51737
(972) 4928500

Prafessional Engineer’s seal
provided only for verification of
windload construction detgils.

5800 SCOTT
WERNDSOR | von or
LITTLE ROCK, AR
72209
DOOR {(501) 562-1872
MODELS:
790
PART NAME:
C ey 1060 & ADORESS|1 /2813 WINDLOAD RESIDENTIAL SANDWICH DOOR
w4 B
B 12/15/11] RLB | CrERANCE
A | 2866 [3/10/08] RLB |FRACE1/ 4T T (EVEL | oATE: DWG. NO.
2851 [11/1/07] RLB AN * 1 11/1/07  199-B—-088
REV.E.C.N.| DATE: |AppRov.| SCALE | PLOT SCALE | DRR BY oo 3




2° GALV. STEEL
HORIZONTAL TRACK

1/4" X 1/2" LONG
CARRIAGE BOLT & NUT

3/4" X 1=1/2" X 13GAGE MIN, 16 GAGE OR 13 GAGE 1%”5))(«?/\4’
GALV. STEEL HORIZONTAL ANGLE. BASED ON THE WEIGHT  HEX HEAD SELF
OF THE DOOR. DRILLING SCREW
USE (2) 1/4" X 3/4"
/@ . SRt shrcs
7% / 13 GAGE MIN, GALV. STEEL I
TRACK SPLICE OR FLAG BRACKET. -
FASTEN 70 WOOD JAMB WITH
: 5/18" X 1—1/2"AG SCREWS. -
2" 18 GAGE GALV. STEEL ~{
VERTICAL TRACK BOLTED
/ TO TRACK BRACKETS WITH DETAIL D
1/4"~20 X 5/8" TRACK BOLTS —_—
SEE DETAIL "E” t
/— 74" (16 X 8)
63" (16 X 7)
58 (16 X 8)
OPENING HEIGHT 1 G
(NOT OVER 477 (16 X 7) DETAL E “%p
DOOR HEIGHT) 44" (16 x &)
(6 X 7)
(5 BRACKETS EACH SIDE)
26" (16 X 7) {16 X 8)
30" (16 X 8) (8 BRACKETS EACH SIDE)
L
21* (16 X 7)
16" (16 X 8)
L
f
; STOFP MOLDING NALED EVERY 6° 3
) D TYPE NAL MINIMUM \E \
/ .
LL LL 2
1 7
DECORATIVE SHORT EMBOSS,

18 GAGE GALV. STEEL CENTER HINGE

ATTACHED

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS,

WITH 4 FASTENERS.

DECORATIVE

GR FLUSH ON EXTERIOR SIDE.

SEE ABOVE

FOR SPACING. FASTEN TO WOCD JAMBS WITH 5/16" X 1-1/2

LAG SCREWS & WASHERS.

NOTE: ALL NON—DESCRIFTIVE FASTENERS SHOWN TO BE

SECTION B-B

1/4“-20 X 5/8" HEX BOLTS & NUTS OR
1/4% X 3/4° LONG HEX HEAD SHEET METAL SCREWS.

LONG EMBOSS

RREPARATION OF JAMBS BY OTHERS. SEE DETAIL "E".

21" HIGH SECTION

EXTERIOR MATERIAL 27 GAGE

P.S.F. TABLE

DOOR

SIZE DESIGN

PRESSURE

TEST PRESSURE

WIDTH

HEIGHT | POSITIVE

NEGATVE | POSITIVE

NEGATIVE

16'—0"

7'—=0"+35.3

—-38.9 | +33.0

—58.4

16’—‘0"

8'—0"+35.3

—38.9

+53.0

—58.4

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05,

DETERMINATION OF SUITABILUTY FOR SPECIFIC SITES IS THE RESPONSIBILITY QF OTHERS,

GALV. AND PREPAINTED STEELY

SECTION A-—A
4 SECTION

5/8"

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS).

SHAFT COLLAR

USE 2 EXTRA
t/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

16GA. GALV. STEEL
TOFP BRACKET WITH
14CGA. ROLLER HOLDER
SEE DETAL D.

STRUT MOUNTED BELOW TOP ROLLER——/
CARRIER

e
/\\ '
/
INTERIOR GALV. & PREPAINTED STEEL
i SKIN.
27 GAGE.

2° ROLLER WITH 7/16“ DIA, LONG STEM,
GiO BALL WITH SHAFT COLLARS.

$

gIR E: STEEL

F EE DETALL

STRUT MOUNTED OVER LOWER LEAF OF
HINGE (SEE DETAIL G)

Q]

e

STRUT MOUNTED ABOVE HINGE (SEE DETALL G)

14 GAGE GALV. STEEL
END HINGES ATTACHED
WITH (6) SCREWS.
SEE DETAIL C.

STRUT MOUNTED OVER LOWER LEAF OF
#2 HINGE (SEE DETAL GY N

1/4"X 3/4” LONG HEX HEAD SELF
DRILLING SCREWS.

STRUT MOUNTED ABOVE #1 HINGE (SEE DETAIL G) —

GALVANIZED STEEL STRUT.

ATTACHED WITH 1/4" X 3/4"

LONG HEX HEAD SELF

DRILLING SCREWS,

{10 PER STRUT FOR 18' WIDE DOOR)

STRUT MOUNTED QVER LOWER LEAF OF
#1 HINGE (SEE DETAIL G)

e

ANK

£
o
7

/N X

/<

&5/8" SPACE—"|

—1.257}—

ALTERNATE GON‘%_TS RUCTION

|

3

p—

f— 2.75" —
DETAIL A

3" 18GA WIDE STRUT

SHAFT COULAR

&N

DETAIL "F”

Y .
o
—
-

(]

POLYSTYRENE INSULATION
(LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

STRUT MOUNTED OVER THE HOTTOM BRACKET ——

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS

SEE DETAIL "F".

I

SECTION C—-C

Carrollton,
TX—PE 5B3

John E Secates PE
3121 FAIRGATE DR,
e
FL-PE-51737

(872) 492-9500

75007
8—F—2203

Profassional Enginaar’a seal
provided only for verification of
windload construction datails.

DETAIL C

L

7 _WIDE STRUTS (GPTIONAL GLASS SSB) USING (2) iTRU
(3" 18 GAGE ) ™ )
SEE DETAIL A ~ Ly t |_| ————
v
B é']’
OPTIONAL o
LDCK——/
OPTIONAL:
WA AsA VoA V774
L A

4 X 16 AR VENT

4) REQ'D

120 SQ. IN. MIN.

OTAL OPEN AREA. I

9_WIDE STRUTS
3" 18 GAGE

(OPTIONAL GLASS SSB)

16" (DDUBLE CAR)\

CENTER HINGES
(3) COLUMNS

ALTERNATE CONSTRUCTION
USING (2} STRUTS

(SEE DETAIL A)

YV IIA Y LLA

)
B
OPTIONAL
s LOTK —/ IH i
OPTIONAL:
4 X 16 AIR VENT M-\ A VA
E4£ REQ'D v
120 SQ. IN. MIN.
TOTAL OPEN AREA.

13 GAGE ENDCAP

SHAFT COLLAR

TYP. LOWER STRUT REF.

USE TWD EXTRA SELF DRILLIN
SCREWS THRQUGH TOF AND N
BOTTOM LEAF OF HINGE,

END CAP AND HINGE PLATE.

2" STEEL ROLLERS
(LONG STEM)

TYP. UPPER STRUT REF. \-%/

16’ (DOUBLE CAR)

= C

CENTER HINGES
(3) COLUMNS

SHAFT COLLAR

.
N

Q

I

//

\
/
7

=

7/

\
/
/

5/8" SPACE- DET A”_ G =5/
Hlve 2 LH. ? '
160 X 7/
NOTE: GLAZING DOES NOT SATISFY IMPACT '] 6’ X 8'
DEBRIS REQUIREMENTS IN FEC FL 15078
5800 SCOTT
WINDSOR | o or
LITTLE ROCK, AR
72209
DOOR (501) 562-1872
MODELS:
790
PART NAME:
¢ Jrev tooo & roomess|1/28/13 WINDLOAD RESIDENTIAL SANDWIGH DOOR
w4 B
B 12/15/11] RLB | OLERANCE
A | 2866 |3/10/08] RLB |ERAC-EVOITNET EVEL | DATE: DWG. NO.
2851 11/1/07| RLB jANG. = 7 11/1/07_199-B—088
SCALE | PLOT SCALE | DRN. BY
REV[E.C.N.| DATE: |APPROV. BH SHT 2 OF 3




2" GALV. STEEL
HORIZONTAL TRACK
16 GAGE OR 13 GAGE

3/4" X 1=1/2" X 13GAGE MIN.
GALV. STEFL HORIZONTAL ANGLE.

1/4" X 3/4
SHEET METAL

SHAFT

(3) 1/4” CARRIAGE BOLTS

COLLAR

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN EIECTRIC OPERATOR
OR A LGCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

/ BASED ON THE WEIGHT = OuREWS SPRINGS).
@ OF THE DOOR,
/ JEn
13 GXGE MIN. GALV. STEEL \QP -
TRACK SPLUCE OR FIAG BRACKET. \‘
FASTEN TO WOOD JAME WITH o)
5/16" X 1-1/2"LAC SCREWS. EXTRA _4 5/8"
2 16 GAGE GALV. STEEL ,/4» X 3/4" % b
/ VERTICAL TRACK BOLTED TO VARG @ —
"1“'/”&%“ xT R§?§~ BT@%T(EESOLWTQH DRILLING SCR DETAIL D 13 GAGE GALV. STEEL TOP BRACKET ~
; WITH 10 GAGE ROLLER HOLDER.
e NOTE THAT ROLLER HOLDER
SEE DETAL "E ] CURL IS TURNED DOWN.
747 (16 X 8) SEE DETAIL D.
1 STRUT MOUNTED BELOW TOP ROLLER CARRIER—/_ 9
63" (16 X 7)
8o (16 X & INTERIOR GALV. & PREPAINTED STEEL
5 27 GAGE.

OBENING HEIGHT 1 © r_—l /
(NOT OVER 47" 216 X 73 DETAIL E N
BOOR: HEIGHT) 447 (16 x & (16 X 7) 2" ROLLER WITH 7

(5 BRACKETS EACH SIDE) 7/16" DIA. LONG STEM
1 WITH SHAFT COLLAR. :
. (16 x B) TIRE: STEEL 10 BALL.
36" gas X 73 {6 BRACKETS EACH SIDE)| | | SEE DETAIL "C".
30" (16 X 8
I -——STRUT MOUNTED OVER LOWER LEAF OF
2" §16 X 7;
16" (16 X & 9"
STRUT MOUNTED ABOVE HINGE (DETAIL G)
5° A g
14 GAGE GALV. STEEL
! ;Ej END HINGES ATTACHED ;5:'
T, STOP MOLDING NAILED EVERY 8" R f WiTH (6) SCREWS. q
i, D TYPE NAIL MIN. —_ maimniiii SEE DETAL C.
{+
7 . . STRUT MOUNTED OVER LOWER LEAF OF
LD 1L #2 HINGE (SEE DETAL G) T~
- 1/4°X 3/4" LONG HEX HEAD SELF
/ DRILLING SCREWS.
STRUT MOUNTED ABOVE #1 HINGE
18 GAGE G STEEL CoNTER e T gecorave swonr ensoss, SRR promee — |
OR FLUSH ON EXTERIOR SIDE. GALVANIZED STEFL STRUT
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE‘ \ATTACHED WITH 1/4" 3/4"
FOR SPACING, FASTEN TO wW0OOD JANBS WITH 5/16 X 1—1/2" LONG HEX HEAD SELF
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL “E". DRILLING SCREWS
(10 PER STRUT) ——
SECTION B-B
———STRUT MOUNTED QVER LOWER LEAF OF ———
#1 HINGE (SEE DETAIL G)
~ POLYSTYRENE INSULATION ™
7 /_ (LAMINATED TO INTERIGR AND 19-1/4" b7
2 EXTERIOR STEEL SKIN) SECTION
21" HIGH SECTION
EXTERIOR MATERIAL 27 CACE STRUT MOUNTED OVER BOTTOM BRACKET ———_
GALV. AND PREPAINTED STEEL} |
I 13 GAGE GALV. STEEL BOTTOM BRAGKET
@ ATTACHED WITH 2 FASTENERS 1 @
NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE SEE DETAIL "F"
1/4"-20 X B/8" HEX BOLTS & NUTS OR SECTION A—A SECTION C—C

1/4" x 3/4" LONG HEX HEAD SHEET METAL SCREWS.

P.S.F. TABLE
DESICN PRESSURE | TEST PRESSURE
PGSITIVE | NECATIVE | POSITIVE | NEGATVE

+31.2 |-34.0 |+46.8 [-51.0
+31.2 |—-34.0 |+46.8 |-51.0

DOCR SIZE
WIDTH_| HEIGHT

18'-0"l7'—0"
18'_0"8!_0"

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VA TESTING TO ANSI/DASMA 108-Q5,

DETERMINATION OF SUITABILUTY FOR SPECIFIC SMES IS THE RESPON

John E

FL-P

Scates PE

3121 FAIRGATE DR,
Curronton.
T E 56

750
308-F-2203
E—51
(g 72) 492-9500

SIBILITY OF OTHERS.

Professional Enginear’s seal
provided only for verification of
windload construction details,

——>’ 1.25" '<—

f—2.75" —~]
DETAIL A
3" 18GA WIDE STRUT

SHAFT COLLAR
cxi} s

Ny

4
%0

5/8" SPAGE—"

DETAIL "F”

7 _WIDE STRUTS

3" 18 GAGE
(SEE DETAIL A)

OPTIONAL SSB

=

GLASS LIGHTS —\

R SR

VT V7l

OPTIONAL: LOCK —/

OPTIONAL:

4 X 16 AIR VENT

) R

4) REQ'D
120 sQ.

IN. MIN.
OTAL OPEN AREA.

A

9 WIDE STRUTS

3" 18 GAGE
(SEE DETAIL A)

2o
i

1|

Yosa rrA

18" (DOUBLE CAR)

I
\—CENTER HINGES

{3) COLUMNS

ALTERNATE CONSTRUCTION
USING (2) STRUTS

\OPTIONAL SSB GLASS LIGHTS\
i

OPTIONAL: LOCK —/

QPTIONAL:

4 X 16 AR VENT

4)
121 . IN, MIN.
OTAL OPEN AREA.

13 GAGE ENDCAP

o
£y

18" (DOUBLE CAR)

USE. TWO EXTRA SELF DRILLIN

TYP. LOWER STRUT REF. /’
\V\,]
G 8] i

|
\—CENTER HINGES

(3) COLUMNS

SHAFT COLLAR

/
\
7
7

% SCREWS THROUGH TOP AND N
BOTTOM LEAF QF HINGE, Q !
END CAP AND HINGE PLATE.
AN 3:!
2" STEEL ROLLERS oo
{LONG STEM) haas /
TYP. UPPER STRUT REF. ——||"\o/ \
o 7
DETAIL C = s e
DETAIL G
5/8" SPACE — L.H. 1 8’ >< 7,
NOTE: GLAZING DOES NOT SATISFY IMPACT : )
DEBRIS REQUIREMENTS IN FBC FL 15078] 18 X &
5800 SCOTT
mnbson HAMILTON DR,
LITTLE ROCK, AR
727209
. DOOR {501) 5621872
MODELS:
790
PART NAME:
€ [REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL SANDWICH DOOR
= 12/15/11] RG] OLERANCE | w4 B
A | 2866 |3/10/08] RLB ggg?-zﬁgfg NEXT LEVEL | DATE: DWG. NO.
2851 [11/1/07| RLB JANG. = 1 11/1/07 | 99—-B—088
REV.JE.CN.| DATE: |APpRov.| SCAE | PLOT SCAE ) DR BY - s




